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RS 1 JL A JEYLIE 38 2
LSRR R iizE= 80 4 3
ATEG TR WA 2% 326 7 3 1 1 1
JRRYLE B 2% 1,529 14 23 1 1 8 7 6
KIE 137 0 4 1 1
T O 816 50 31 5 3 1 8 2 6
R YL MEALBE 9 0 0
ZERMEIIB 116 5 5 1 1 2
B H % 4 0
AR —F 204 10 2 1 1 2
WATHEE TRk 197 13 8 3 1 4
LTI NT W 4,436 0 0
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RS ¢ )L A JRYLIE 38 2 7 5 2 0 -
MR T i e 280 80 4 3 1| 300.0%
ARESE B HEA 326 7 2 1 8| 37.5%
SRS ' B 2% 1,529 14 23 11 4 5 3 18| 127.8%
K 137 0 4 1 3 3| 133.3%
F M9 816 50 31 17 11 3 2| 1550.0%
(R YL MEALBE 9 0 0 1 0.0%
JERENEFE S 116 4 1 0 -
B H % 4 0 0 0 -
AR —F 204 10 4 2 6| 166.7%
DRATHEE T gk 197 13 1 3 8| 100.0%
A TN Y 4,436 0 1 0.0%
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